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SA: HAD
Mz PEG M2 E2EE PE(WEUVESF/ER)
Ciel: TR Y ALE 2l (el me
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
onlggx 2858 =2
900, 0003 * 12! X| 10,800
ODIZSX 24 2ot 2442
1,000,000& * 10& K| 10,000
O/EHIIE S2B U2 K| 2X2
750,000 *163M" x6% 7,335
OARANE S22
20,0002+ 122 X| 240
305 a2 S 100,000 100,000
01 HiMd=S 100,000 100,000
=20 Al 100,000 100,000
ORH0IS2 etetia=2(E2)
5,000,000&*20& X| 100,000
401 AlI&EHIL L0 1,200,000 320,000 830,000
01 Al&H] 1,200,000 320,000 880,000
=0l A 1,200,000 320,000 830,000
OB AMH|(LBEX 24t
100,000,000 * 12&! X| 1,200,000
OtMGH =2 XY 2,100 2,100 0
201 LEt2AH| 2,100 2,100 0
01 AtR2teld| 2,100 2,100 0
=0 A 2,100 2,100 0
OzzpelAods] & o
70,0002 x6 X *x53| 2,100
oINS T2 AES 28 T2 & 5,771,716 3,077,716 2,694,000
= 1,103,000
& 311,600
Al 4,357,116
WEAID 2R WEH(HEALS) 82,000 100,000 A 18,000
& 41,000
Al 41,000
401 Al&EHIL 20| 82,000 100,000 A 18,000
& 41,000
Al 41,000
01 Al&HI 82,000 100,000 A 18,000
o= 41,000
Al 41,000
=0 A 82,000 100,000 A 18,000
& 41,000
Al 41,000
Osa28 2 AMHE| WEAD &2 2
HE AR 40,000,000 40,000
& 20,000
Al 20,000
O XU F AtAHC BEAILD &S
2 A AN 42 000,000 42,000




SA: HAD
M. NSt 2 T2 IF(WSLEFR/EI)
o oINSt T 2AEE 8 S22 &F| (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
== 21,000
Al 21,000
LOIES S I AL (HEALS) 100,000 0 100,000
& 50,000
Al 50,000
401 AMIEBIZ2UYI 100,000 0 100,000
= 50,000
Al 50,000
01 A&l 100,000 0 100,000
& 50,000
Al 50,000
=0 A 100,000 0 100,000
& 50,000
Al 50,000
OLQES 7S I ALS 100,000,000& 100,000
= 50,000
Al 50,000
STZAEE ot™2te| 2,769,000 1,999,000 770,000
201 LEt23d| 35,000 35,000 0
01 AtSR2teltl 35,000 35,000 0
S0j &t 35,000 35,000 0
OZZAd2 =KX L AtR2elt|
20,000,000& 20,000
SE2RAES EHILX 15,000,000& 15,000
202 04| 4,000 4,000
01 =LHO4H] 4,000 4,000
S0j &t 4,000 4,000
O=U0bl 4,000,000 4,000
401 AIEHIL 20| 2,730,000 1,960,000 770,000
01 Al&HI 2,730,000 1,960,000 770,000
=0 A 2,730,000 1,960,000 770,000
Oug 2 HY szl 30,000,000 30,000
OJI2X2AMN ¥ =2HEsA 70,000,000 70,000
OE=ZAE FXNE+ 300,000,000& 300,000
Oz =X& F| 50,000,000& 50,000
O=ltHE & X MIZ AL
200,000,000& 200,000
Osoitiiz OtAZHMNRI| SAt
400,000,000 400,000
OYHElE OtAZHMNRI| SAt
200,000,000 200,000
ODINEZ & RHEEMIAL
200,000,000& 200,000
oMBRIRNE @ ERALE 23 24
80,000,000 80,000




SH: AT
M. s 2 28 PF(USLER/ER)
o9l OINE TRAES 93 TN (2ol 2@
- rol 1 2 0 -
S - B S(SH) - NISAY - BAS S s HIDS2
OO0t A=F0I2 BESAt
200,000,000& 200,000
OaA&H 89 50,000,000& 50,000
O2FZ 5 JMHETMI AL 200,000,000& 200,000
OZLoNEH SA((M)E2W, =W,
SMEY, g4tin) 130,000, 000& 130,000
ORYIAY B(2UUD
200,000,000& 200,000
Oz S KT BAL
200,000,000& 200,000
OFZZHZ S IHETM ZA
200,000,000 200,000
O=SIIEE AL 20,000,000 20,000
Slix S 2otA 2| 530,000 417,500 112,500
206 M=l 15,000 12,500 2,500
01 M=l 15,000 12,500 2,500
204 & 15,000 12,500 2,500
OxZ2 ®#AE+ AMHFL(Sse S)
15,000,000& 15,000
305 Hia=2S 5,000 5,000
01 i =S 5,000 5,000
20i & 5,000 5,000
OE=Z0I3 a3 5,000,000 5,000
401 AMEHIZ U] 510,000 400,000 110,000
01 Al&HI 510,000 400,000 110,000
=04 & 510,000 400,000 110,000
OW=sHXE FHl & AXISAt
30,000,000 30,000
OuSAMa2oZ JHESAL
20,000,000& 20,000
OBrAtE &3HI & &X| 30,000,000 30,000
OodZ BTHHISA 100,000,000& 100,000
O2dZ B HH|IZ2A 100,000,000& 100,000
Oxd=z B=HU|IZA 100,000, 000& 100,000
OFU=Z 2048 S ZHIZA
50,000,000 50,000
OFUZ BET=HUISA 80,000,000 80,000
OtMS S2AES st T2 EH| X ZH] 64,716 60,216 4,500
201 Let2IH| 62,716 59,216 3,500
01 AtS2teltl 9,300 8,800 500
20i & 9,300 8,800 500
OuEEAAIL otz s 2
1,250,000& *4=J| 5,000
OE=23H| AtR2t2ltl 1,500,000& 1,500
O=ZSMEE AL &I| &H| erdzte|
CHel === 200,000 =123 2,400
O&2in LelHole ZAte=
200,000 *2CH 400




rar=;
HHEE F2 28 PFH(NSXER/E2)
oHNst C2AES ?lgt =2 EH| e RS
2 . il oy 11 0f o .
SA - BB - S9I(EN) - MRAL - BYS S N s2
02 S3=gH| 53,416 50,416 3,000
=0l & 53,416 50,416 3,000
O3l 2EIS IS
50,000 » 128 600
OSRMEE ZAIANAY H&8S 2
8,000& » 128 96
Od%a=2dlu d9sSd g2HisS =
A2t 25,000,000& 25,000
O&2liu AelHIole RXAl2cldl
400,000 «2J4 A+ 123 9,600
O&%lu AelHIOH HIIAER
300,000& 20 A% 123 7,200
O&%lu LelHIOE d3tR=
15,0003 «200 2128 360
Ogzted ozdd dIes
80,0002 +201 A+ 123 1,920
OMNSE=2AtE &JI2=
100,0003 #40H A% 123 4,800
OFd ALY HEH AE2
320,000 x 122 3,840
202 O] 2,000 1,000 1,000
01 2L 2,000 1,000 1,000
=0l At 2,000 1,000 1,000
O=LHNLI 2,000,000& 2,000
AEH0IZ SH3 AHY 20,000 20,000 0
401 AlIEHIZ S 0HYI 20,000 20,000 0
01 A&l 20,000 20,000 0
=0l & 20,000 20,000 0
OXENHEZ EUIALY 20,000,000& 20,000
Mol I X2 FEH (Z2fw THIoHE) 2,206,000 0 2,206,000
= 1,103,000
= 220,600
Al 882,400
401 AlEHIZL O] 2,206,000 0 2,206,000
= 1,103,000
= 220,600
Al 882,400
01 AlZHI 2,046,000 0 2,046,000
= 1,103,000
S 220,600
Al 722,400
=0l &t 2,046,000 0 2,046,000
= 1,103,000
& 220,600
Al 722,400
O&2 ) MIMESA 2,046,000,000& 2,046,000
= 1,103,000
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I‘I iH :
l:+°| :

rar=;
HEE 2 E2EE
OIMEE T2ALES <

o
B
£l
0

)

SRR S(B) - NIRAR - BHAS (ggj) @%%’Lﬁ‘” HDE2
= 220,600
Al 722,400
02 22| 160,000 160,000
=0 A 160,000 160,000
Ot THOtEZ2 A HAAAG2E|IE2A
160,000, 000& 160,000
TAHEEZ A 3,757,080 1,005,040 2,752,040
SHEZARUHEZED S22 A (AR2-2065 A1) 1,200,000 0 1,200,000
401 Al&EHILL0HY| 1,200,000 0 1,200,000
01 Al&H] 1,200,000 0 1,200,000
S0 A 1,200,000 0 1,200,000
OTAHEE2(A22-00654) HAZA
HAUEX] B4t 1,200,000,000& 1,200,000
SAHEEZ & X2AHY| 7,080 5,040 2,040
201 LEL2AH| 5,080 3,040 2,040
01 AF22t2lt] 5,080 3,040 2,040
=0l A 5,080 3,040 2,040
OSBHEERARAS EasH
70,0003 *x7EH *x23| 90
OSHEEARS EAAH|
50,0003 7 *x23| 700
OJl=N2eHs Ha4Y
70,0002 x10Z 23] 1,400
OJI=sX2f| 3 &4 Al
50,0002 x10E 23] 1,000
OZAHEEZ e X3 AHR22l]
1,000,000& 1,000
202 04| 2,000 2,000
01 =Wyl 2,000 2,000
=0 A 2,000 2,000
O=U0bl 2,000,000 2,000
E)\l?l C2(AZ3HISH) HEZ2AHLS 48 150,000 0 150,000
a2
401 AlEHIZL L0 150,000 150,000
01 A&t 150,000 150,000
S0 A 150,000 150,000
OSANHEE2(AR23-H51S4A) HEZ2AH
150,000,000& 150,000
SAHEEZ2(ER23-65 4, OL0|II2XH L&) AH| 450,000 0 450,000
S A
401 Al&2H1L 20| 450,000 450,000
01 Al&BI 450,000 450,000
=01 A 450,000 450,000
OZAHEEZR(E2365H) AHIZAt
450,000,000 450,000
TAIHEEZ2(Z23-1354) IHE Z2AHKCCOHIIE 2« 100,000 0 100,000




SN A}
M. NSt 2 T2 IF(WSLEFR/EI)
o9l CAHEER (el me
S - EHY - BR(31) - NSAY - BaS S SR b=
401 AlEHIZL S0 100,000 100,000
01 Al&H| 100,000 100,000
S0 &t 100,000 100,000
OEANHEEZZ(E23-13548) HEZAL
HOIEX 24 100,000,000 100,000
CANHECZ(E23-3HaH) IHEZBAHEZESS W0 400,000 0 400,000
X L&)
401 AIEHIZ2UIYI 400,000 400,000
01 AlI&HI 400,000 400,000
20 & 400,000 400,000
OZAHEEZ2(E23-HsH) IHESAL
HolEN DA 400,000, 00084 400,000
SHRAUARE-FBANONIE CS2HEBAHER 1,000,000 0 1,000,000
1-3154)
401 AIEHIL 20| 1,000,000 1,000,000
01 Al&H| 1,000,000 1,000,000
=0 A 1,000,000 1,000,000
CAHEEZ2(E21-31346) IHEZ2Al
HAUEX B4 1,000,000,000& 1,000,000
01 SAIHEESZ NS A 150,000 150,000 0
401 AIEHIZL S0 150,000 150,000 0
01 Al&HI 150,000 150,000 0
S0j &t 150,000 150,000 0
OZAHEZZ Z2HLA 22|
150,000,000& 150,000
THIR S HE S S2MEAN (ZE23-655H) 300,000 0 300,000
401 A EHIZL S 0IYI 300,000 0 300,000
01 Al&H| 300,000 0 300,000
20l 300,000 0 300,000
OEANHEEZZ(E21-1854) MEZAL
HAUEX 24t 300,000,000 300,000
FUHH AZE2G A= 800,000 800,000
HEXSE J|BAIE KI2(Hx2ZX S oot = 800,000 0 800,000
24 (A=
401 AIEHIZS20UIYI 800,000 800,000
01 AI&HI 800,000 800,000
20 & 800,000 800,000
O=x=2ZX A sforazdes il
800,000,000 800,000
AMNE FQAIH FRFEX(AHAE AL 13,000 8,000 5,000
AMEAH dREI(SS) (AL A 1,000 1,000 0
203 ERF&d| 1,000 1,000 0
03 AIMF=XIH R F=&IH| 1,000 1,000 0
20 & 1,000 1,000 0
OAIBAIM HRFX(BS) 1,000,000& 1,000
ANZAIY HRFT(RA) (AL AL 12,000 7,000 5,000




A A4

I AN B2 CREY PE(WSULER/ER)
IH o=
/| =T T

cielr AIE =RA (el me
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
203 HR=&H| 12,000 7,000 5,000
03 AIZE=RIHR2EAY| 12,000 7,000 5,000
=0 A 12,000 7,000 5,000
OAZHAIY HAR=KI(2E) 10,000
OAIZHAIY HADZ=X(2H)(Z2E
5,000,000& 5,000
OAIZHAIY HAD=XI(2H)(EA)
5,000,000& 5,000
OAHAIY HRFE(2A 2,000,000 2,000
OrM st X|2= 2 RHOHOHZY 2UR|(ZELXIGIHE/XH) 1,672,380 860,060 812,320
== 50,000
Al 1,622,380
RHOH ol & 285,500 171,000 114,500
THOH Ol & ==& 285,500 171,000 114,500
201 LEt2AH| 85,500 71,000 14,500
02 2324l 85,500 71,000 14,500
=0 A 85,500 71,000 14,500
O 222X S84 Y SA22H(H
o =ed, fU=2) 40,000,000& 40,000
OZ2HId0IH |54 & |X22/d]
5,000, 000& =2CH 10,000
ONMAEEHI SIS 2,500,000 *9CH 22,500
OxgEg = 1,300,000 *x10CH 13,000
206 =4I 200,000 100,000 100,000
01 MZ b 200,000 100,000 100,000
=0 A 200,000 100,000 100,000
OHEESTH(Ze=2H, AgUE)
200,000,000& 200,000
KEI|BIAIE L 6FA - 28I AH| 1,386,880 689,060 697,820
o= 50,000
Al 1,336,880
XI6tE SHEAEHIAIY 100,000 0 100,000
== 50,000
Al 50,000
401 Al&HILL0HY| 100,000 0 100,000
& 50,000
Al 50,000
01 Al&H] 100,000 0 100,000
== 50,000
Al 50,000
S0l A 100,000 0 100,000
o= 50,000
Al 50,000
OX oA (NMA) st=HHIAIS
100,000,000 100,000




=N

A4
M. orMSE X4 L MOHHE 2e(SELXSINLY /XA
Ciel: XISDIUAIE U ol - ASHA EH| (cr9l: &g
. . rou 1 2 0 .
S - B S9(3H) - NSAY - BES S s HDS2
== 50,000
Al 50,000
XSIEtAlE E| 254,000 125,000 129,000
201 LEt23H| 3,000 3,000 0
01 AtR22teltl 3,000 3,000 0
S0 &t 3,000 3,000 0
Onigerd 2A3=TEY Yx
3,000,000& 3,000
202 O4H| 2,000 2,000
01 =LHOH] 2,000 2,000
20 & 2,000 2,000
O=LH0dbI 2,000,000& 2,000
401 AIEBIZS2UiYI 249,000 120,000 129,000
01 Al&HI 249,000 120,000 129,000
20 & 249,000 120,000 129,000
OnsE 630-13HXI(KOIE) ¢& Dt=2otd &
HIZ Al 30,000,000 30,000
OLsts 1251HI(M=AHE) L& 02
ord HHIZ A} 50,000, 0002 50,000
OHE HazzeM A 0120 &
HIZ Al 70,000,000 70,000
OZF2IH2AtE Mel(8HS)
80,000, 0002 80,000
OHAN =YD HUNNHARO
19,000,000& 19,000
ot& - AoHE JH| 1,032,880 279,060 753,820
201 Ler23d| 11,380 7,560 3,820
01 At22teltl 9,700 6,000 3,700
204 & 9,700 6,000 3,700
Oictde|9ds 28+Y
70,0002 10 700
OotA - AotA 2EEI =2
2,000,000 2,000
Ootd - A0tE 218=S7&d| Xt
3,000,000& 3,000
OBIA - 4518 2EEY 442
3,000,000 3,000
OotA - A0HA ARAHOE SR
1,000,000& 1,000
02 323l 1,680 1,560 120
204 & 1,680 1,560 120
O& I UHSOHHAIAYE MRS
10,0002 12& 120
Q&I USOHUHAIAY SARS
130,000 =123 1,560
202 04| 1,500 1,500
01 2L 1,500 1,500
=0 A 1,500 1,500




2AM:

HA
HI: OLMBH X4 U KHGHCHR
X

BT SR
S - B S9(3H) - NSAY - BES S S =2
| O=uoiul 1,500, 0008 1,500
401 AMIEBIZ 2] 1,020,000 270,000 750,000
01 A& 1,020,000 270,000 750,000
S04 & 1,020,000 270,000 750,000
OAF=SDEA 2 2 OlHTA
500,000,000 500,000
OL&E 0122012 7 BHIZAl
250,000,000 250,000
OABIH(SIZ2H) ZHITA AASHS
A 100,000,000& 100,000
OME Atz ATHS A 20,000,000& 20,000
OXYord SHAEHIAIY 50,000,000& 50,000
Ootd - Aotd - 2H olx= & &S HA
SA 20,000,000& 20,000
Ootd - A0HE - 2 EL3A
50,000,000 50,000
Ot - A8 - AldE2 KA
30,000,000 30,000
a HAGI(AEAID) (DIEHIIEL) 27,600 36,900 29,300
Rl 27,600 36,900 29,300
=44l 27,600 36,900 A9,300
201 Ler23d| 21,400 24,100 A2,700
01 AtS2teltl 20,400 23,600 A3,200
S0/ & 20,400 47,200 A26,800
OZAItE I A g dXtz
100,000 =123 1,200
OZAItEI A 2 AR
2,000,000 2,000
OFAN2Z AtR2t2ltl 6,000,000 6,000
OAIR4! =8| Xtz
250,000 20+ 12& 6,000
OAIZt2l 22Xt 24| 700,000& = 12& 8,400
SH=O0IA 20,400 23,600 23,200
02 323l 1,000 500 500
20l & 1,000 500 500
FA2Z 23| 1,000,000& 1,000
202 O4H| 2,000 2,000
01 =LHOH] 2,000 2,000
201 & 2,000 2,000
ORAM2Z U0 2,000,000& 2,000
203 LRF&d| 4,200 10,800 26,600
01 J| 229 PR F=&| 0 6,000 26,000
201 & 0 12,000 A12,000
OJ|A2E LRFAH(TAIHEE)
6,000,000 6,000
SHSO0IM 0 6,000 26,000
M 2A2IHRFYI 4,200 4,800 A600




S AL
Nz HYESAAHI(AEAIL) (DIEHDIIEH
&l J12Z (chel &2
SA - B OR(B) - NRAY - BaS S SR RS2
=0 A 4,200 9,600 A5,400
ORANSIEYE R 400,000 x12& 4,800
SH=O0IA 4,200 4,800 600
NPES(HEZAIN) (REYLEFR/EZ) 89,410 89,800 A390
I=PSUNES 89,410 89,800 A390
ZI0IEH SAIAIEAISE KX AtE 89,410 89,800 A390
311 XL 20| AHakEt 89,410 89,800 A390
01 Al - = - RIS D2 XL 20| KHAaFSH 60,000 60,000 0
=0 A 60,000 60,000 0
OAlZ 7 RS2 X2 Ol Krakst
60,000,000 60,000
04 XN SHO0I KAt 29,410 29,800 A390
=0 A 29,410 29,800 A390

29,410,000 29,410




